
Recommend!! Get the Full 010-160 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/010-160-exam-dumps.html (80 New Questions)

 LPI
Exam Questions 010-160

Linux Essentials Certificate Exam - version 1.6

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full 010-160 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/010-160-exam-dumps.html (80 New Questions)

NEW QUESTION 1
What is defined by a Free Software license?

A. Details of the technical documentation each contributor has to provide.
B. The programming languages which may be used to extend the licensed program.
C. A complete list of libraries required to compile the licensed software.
D. Limits on the purposes for which the licensed software may be used.
E. Conditions for modifying and distributing the licensed software.

Answer: E

NEW QUESTION 2
A directory contains the following three files:
texts 1.txt
texts 2.txt
texts 3.csv
Which command copies the two files ending in .txt to the /tmp/ directory?

A. cp ??.txt /tmp/
B. cp *.txt /tmp/
C. c
D. \.txt /tmp/
E. cp ?.txt /tmp/
F. cp $?.txt /tmp/

Answer: B

NEW QUESTION 3
What are the differences between a private web browser window and a regular web browser window? (Choose three.)

A. Private web browser windows do not allow printing or storing websites.
B. Private web browser windows do not store cookies persistently.
C. Private web browser windows do not support logins into websites.
D. Private web browser windows do not keep records in the browser history.
E. Private web browser windows do not send regular stored cookies.

Answer: BDE

NEW QUESTION 4
What can be found in the /proc/ directory?

A. One directory per installed program.
B. One device file per hardware device.
C. One file per existing user account.
D. One directory per running process.
E. One log file per running service.

Answer: D

NEW QUESTION 5
A new server needs to be installed to host services for a period of several years. Throughout this time, the server should receive important security updates from
its Linux distribution.
Which of the following Linux distributions meet these requirements? (Choose two.)

A. Ubuntu Linux LTS
B. Fedora Linux
C. Debian GNU/Linux Unstable
D. Ubuntu Linux non-LTS
E. Red Hat Enterprise Linux

Answer: AE

NEW QUESTION 6
Which of the following keys can be pressed to exit less?

A. l
B. x
C. e
D. q
E. !

Answer: D

NEW QUESTION 7
What parameter of ls prints a recursive listing of a directory's content? (Specify ONLY the option name without any values or parameters.)
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A. Mastered
B. Not Mastered

Answer: A

Explanation: 
ls -R 

NEW QUESTION 8
When typing a long command line at the shell, what single character can be used to split a command across multiple lines?

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
\

NEW QUESTION 9
A user is currently in the directory /home/user/Downloads/ and runs the command ls ../Documents/
Assuming it exists, which directory’s content is displayed?

A. /home/user/Documents/
B. /home/user/Documents/Downloads/
C. /home/user/Downloads/Documents/
D. /Documents/
E. /home/Documents

Answer: D

NEW QUESTION 10
Which permissions are set on a regular file once the permissions have been modified with the command chmod 654 file.txt?

A. drw-r-xr-
B. d—wxr-x-
C. –wxr-x--x
D. –rwxrw---x
E. -rw-r-xr-

Answer: E

NEW QUESTION 10
What is true about the owner of a file?

A. Each file is owned by exactly one user and one group.
B. The owner of a file always has full permissions when accessing the file.
C. The user owning a file must be a member of the file’s group.
D. When a user is deleted, all files owned by the user disappear.
E. The owner of a file cannot be changed once it is assigned to an owner.

Answer: A

NEW QUESTION 11
Which of the following commands can be used to resolve a DNS name to an IP address?

A. dnsname
B. dns
C. query
D. host
E. Iplookup

Answer: D

NEW QUESTION 12
Which of the following commands finds all lines in the file operating-systems.txt which contain the term linux, regardless of the case?

A. igrep linux operating-systems.txt
B. less -i linux operating-systems.txt
C. grep -i linux operating-systems.txt
D. cut linux operating-systems.txt
E. cut [Ll] [Ii] [Nn] [Uu] [Xx] operating-systems.txt

Answer: C
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NEW QUESTION 13
Which of the following commands will search for the file foo.txt under the directory /home?

A. search /home –file foo.txt
B. search /home fo
C. txt
D. find /home – file foo.txt
E. find /home –name foo.txt
F. find /home foo.txt

Answer: D

NEW QUESTION 16
Which of the following programs are web servers? (Choose two.)

A. Apache HTTPD
B. Postfix
C. Curl
D. Dovecot
E. NGINX

Answer: AE

NEW QUESTION 18
Which of the following Linux Distributions is derived from Red Hat Enterprise Linux?

A. Raspbian
B. openSUSE
C. Debian
D. Ubuntu
E. CentOS

Answer: E

NEW QUESTION 22
Which operator in a regular expression matches the preceding character either zero or one time?

A. ?
B. *
C. +
D. %
E. $

Answer: A

NEW QUESTION 24
Which of the following values could be a process ID on Linux?

A. /bin/bash
B. 60b503cd-019e-4300-a7be-922f074ef5ce
C. /sys/pid/9a14
D. fff3
E. 21398

Answer: E

NEW QUESTION 25
What is the UID of the user root?

A. 1
B. -1
C. 255
D. 65536

Answer: E

NEW QUESTION 29
What command displays manual pages? (Specify ONLY the command without any path or parameters.)

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
man
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NEW QUESTION 30
How is a new Linux computing instance provisioned in an laaS cloud?

A. The standard Linux installer has to be run through a remote console.
B. After buying a Linux distribution, its vendor delivers it to a cloud instance.
C. The installation has to be prepared in a local virtual machine which is then copied to the cloud.
D. The cloud hosting organization provides a set of pre-prepared images of popular Linux distributions.
E. A provider-specific configuration file describing the desired installation is uploaded to the cloud provider.

Answer: E

NEW QUESTION 31
Which package management tool is used in Red Hat-based Linux Systems?

A. portage
B. rpm
C. apt-get
D. dpkg
E. packagectl

Answer: B

NEW QUESTION 33
Which of the following tasks can the command passwd accomplish? (Choose two.)

A. Change a user's username.
B. Change a user's password.
C. Create a new user account.
D. Create a new user group.
E. Lock a user account.

Answer: CE

NEW QUESTION 37
Why are web browser cookies considered dangerous?

A. Cookies support identification and tracking of users.
B. Cookies are always public and accessible to anyone on the internet.
C. Cookies consume significant amounts of storage and can exhaust disk space.
D. Cookies store critical data which is lost when a cookie is deleted.
E. Cookies can contain and execute viruses and malware.

Answer: A

NEW QUESTION 40
What is true about a recursive directory listing?

A. It includes the content of sub-directories.
B. It includes the permissions of the directory listed.
C. It includes details of file system internals, such as inodes.
D. It includes ownership information for the files.
E. It includes a preview of content for each file in the directory.

Answer: A

NEW QUESTION 41
Which of the following commands output the content of the file Texts 2.txt? (Choose two.)

A. cat 'Texts 2.txt’
B. cat -- Texts 2.txt
C. cat |Texts 2.txt|
D. cat 'Texts\ 2.txt’
E. cat Texts\ 2.txt

Answer: AB

NEW QUESTION 44
Which of the following devices represents a hard disk partition?

A. /dev/ttyS0
B. /dev/sata0
C. /dev/part0
D. /dev/sda2
E. /dev/sda/p2

Answer: 
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D

NEW QUESTION 46
Which of the following permissions are set on the /tmp/ directory?

A. rwxrwxrwt
B. ------rwX
C. rwSrw-rw
D. rwxrwS--
E. r-xr-X--t

Answer: A

NEW QUESTION 48
Which of the following examples shows the general structure of a for loop in a shell script?

A. for *.txt as file => echo $file
B. for *.txt ( echo $i )
C. for file in *.txt do echo $i done
D. for ls *.txt exec {} \;
E. foreach @{file} { echo $i }

Answer: C

NEW QUESTION 52
Which of the following commands are used to get information on the proper use of ls? (Choose two correct answers.)

A. option ls
B. usage ls
C. manual ls
D. man ls
E. info ls

Answer: DE

NEW QUESTION 57
Which of the following directories must be mounted with read and write access if it resides on its own dedicated file system?

A. /opt
B. /lib
C. /etc
D. /var
E. /usr

Answer: D

NEW QUESTION 59
What is the purpose of the PATH environment variable?

A. It allows the execution of commands without the need to know the location of the executable.
B. It increases security by preventing commands from running in certain locations.
C. It specifies the location of a user's home directory.
D. It indicates the location of the default shell to be used when a user logs in.
E. It contains the absolute path to the current directory.

Answer: A

NEW QUESTION 64
The current directory contains the following file:
-rw-r—r— 1 root exec 24551 Apr 2 12:36 test.sh
The file contains a valid shell script, but executing this file using ./test.sh leads to this error: bash: ./test.sh: Permission denied
What should be done in order to successfully execute the script?

A. The file’s extension should be changed from .sh to .bin.
B. The execute bit should be set in the file’s permissions.
C. The user executing the script should be added to the exec group.
D. The SetUID bit should be set in the file’s permissions
E. The script should be run using #!./tes
F. sh instead of ./test.sh.

Answer: B

NEW QUESTION 66
......
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